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Q : 1) In the straight line method the 
expression for depreciation of a 
machine having purchasing cost C, 
scrap value S and useful life of the 
machinery n, is ____________
A : (C + S)/n 
B : (C-S)/n 
C : [1-(C/S)] ×n
D : [1 + (C/S)] ×n
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Q : 2) Which of the following is NOT 
measured in square metre?
A : Drip course 
B : Pointing 
C : Shuttering 
D : Damp proof course 
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Q : 3) Which of the following is the 
multiplying factor for the estimation 
of lead for sandy tracks?
A : 1 
B : 1.1
C : 1.2 
D : 1.4 
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Q : 4) The expected out turn (Square 
metre) of sawing of the soft wood per 
mason per day is 
A : 2.5 
B : 5.5
C : 8.5 
D : 10 
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Q : 5) Which of the following is the 
unit of measurement for the sills of 
windows?
A : Cubic meter 
B : Meter 
C : Number 
D : Square meter 
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Q : 6) Accuracy in the measurement of 
the volume in cubic meter should be 
near to____________
A : 0.001 
B : 0.01 
C : 0.02 
D : 0.1 
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Q : 7) Which of the following is NOT 
included in the floor area?
1. Clear coverage area 
2. Area of the walls 
3. Sills of the doors 
4. Sills of the windows 
Options 
A : 1 and 3                            B : 2 and 3 
C : 2, 3 and 4                      D : 2 and 4
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Q : 8) For supply lime is measured in 
_________.
A : Bags of 50 kg 
B : Cubic metre
C : Kilograms 
D : Quintals 
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Q : 9) Which of the following is the correct 
statement for length of the long wall as 
one move from earthwork to brick work in 
super structure in long and short wall 
method?
A : Its value decreases 
B : Its value depends upon the length of 
walls 
C : Its value increases 
D : Its value remains same 
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Q : 10) The measurement is NOT made 
in square metres in case of 
A : Damp proof course 
B : Form works 
C : Concrete Jaffries
D : R.C. Chhajja
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Q : 11) For one sq.m. single brick flat 
soling (Conventional size), the number 
of brick required is 
A : 54
B : 62
C : 32
D : 44
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Q : 12) For 1 sq. m. of 7.5 cm thick 
lime terracing in roof with brick khoa, 
surkhi, lime (2 : 2 : 7) including 
finishing, the quantity of surkhi
required is 
A : 0.023 cu.m
B : 0.025 cu.m
C : 0.019 cu.m
D : 0.022 cu.m
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Q : 13) In straight line method, the 
annual depreciation of the property is 

A : 
╞►░▌░▪╪■╬▫▼◄╪▪▪◊╪■▼░▪▓░▪▌█◊▪▀

╛░█▄░▪◐▄╪►▼

B : 
╛░█▄░▪◐▄╪►▼

╞►░▌░▪╪■╬▫▼◄▼╬►╪▬○╪■◊▄

C : 
╞►░▌░▪╪■╬▫▼◄▼╬►╪▬○╪■◊▄

╛░█▄░▪◐▄╪►▼

D : 
╞►░▌░▪╪■╬▫▼◄▼╬►╪▬○╪■◊▄

╛░█▄░▪◐▄╪►▼
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Q : 14) The quantity of brickwork in 
foundation and plinth per day per 
mason should be 
A : 1.75 cu.m
B : 2.5 cu.m
C : 1.0 cu.m
D : 1.25 cu.m
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Q : 15) Number of modular bricks 
required for one cubic metre of brick 
masonry are : 
A : 400 
B : 450 
C : 550 
D : 500 
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Q : 16) For 15 mm thick cement 
plastering 1 : 6 on 100 sq.mnew brick 
work, the quantity of cement required 
is: 
A : 0.200 m3

B : 0.247 m3

C : 0.274 m3

D : 0.343 m3
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Q : 17ύ LŦ ΨLΩ ƛǎ ǘƘŜ ǊŀǘŜ ƻŦ ƛƴǘŜǊŜǎǘ ŜȄǇǊŜǎǎŜŘ 
ƛƴ ŘŜŎƛƳŀƭ ŀƴŘ ΨƴΩ ǘƘŜ ƴǳƳōŜǊ ƻŦ ȅŜŀǊǎΣ 
then coefficient of annual sinking find, Ic is 

A : ╘╬
░▪

░

B : ╘╬
░

░▪

C : ╘╬
░

░▪

D : ╘╬
░

░▪
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Q : 18) if d be the diameter of MS or 
tor steel bars in mm, the standard 
weight (in kg) per metre of the bar is : 
A : 0.00618 d2

B : 0.00618 d 
C : 0.00816 d2

D : 0.00816 d
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Q : 19) Administrative head of public 
works department who is directly 
responsible to government is: 
A : Superintending engineer 
B : Chief engineer 
C : Assistance engineer 
D : Executive engineer 
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Q : 20) The quantity of wood for the 
shutters of doors and windows is 
calculated in: 
A : m 
B : m2

C : m3

D : Lump-sum 
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Q : 21)  The floor area includes the 
area of the balcony upto: 
A : 75% 
B : 50% 
C : 25% 
D : 85% 
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Q : 22) The plan of a building is in the form 
of square with centrelinedimensions of 
outer walls as 14.7 m ×14.7 m. If the 
thickness of the wall in superstructure is 
0.30 m, then its plinth area is: 
A : 216 m2

B : 225 m2

C : 234 m2

D : 150 m2
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Q : 23) Thickness of plastering is 
usually: 
A : 12 mm 
B : 25 mm 
C : 40 mm 
D : 6 mm 
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Q : 24) Using straight line method 
annual depreciation D is equal to: 

A : 
╞►░▌░▪╪■╬▫▼◄■░█▄░▪◐▄╪►

╢╬►╪▬○╪■◊▄

B : 
╞►░▌░▪╪■╬▫▼◄╢╬►╪▬○╪■◊▄

╛░█▄░▪◐▄╪►

C : 
╛░█▄░▪◐▄╪►╢╬►╪▬○╪■◊▄

╞►░▌░▪╪■╬▫▼◄

D : 
╢╬►╪▬○╪■◊▄╛░█▄░▪◐▄╪►

╞►░▌░▪╪■╬▫▼◄
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Q : 25) The following document 
contains detailed description of all 
items of work excluding their 
quantities, along with the current 
rates:
A : Abstract estimate 
B : Schedule of rates 
C : Analysis of rates 
D : tender document 
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Q : 26) The system of organization 
introduced by F.W. taylor is known as-
A : Effective organization 
B : Functional organization 
C : Line and staff organization 
D : Line organization 
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Q : 27) Salvage value is defined as-
A : value of dismantled materials of a property 
at the end of its utility period 
B : Estimated value of a built up property at the 
end of its useful life without being dismantled 
C : Value of the property shown in the account 
book in that particular year 
D : Present value of a property considering it to 
be replaced at the current market rates 
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Q : 28) Decrease or reduction in the 
value of an equipment or asset is 
called as-
A : Saturation 
B : Depreciation 
C : Negotiation  
D : Valuation 
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Q : 29) Measurement of 50 mm thick 
concrete flooring will be done in-
A : Cubic m 
B : % sq m 
C : Meter 
D : Sq. m 
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Q : 30) Cost slope is the ratio of 
A : Increase in cost by increase in time 
B : Decrease in cost increase in time 
C : Increase in cost by decrease in time 
D : Decrease in cost by decrease in 
time 
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Q : 31) Consider the following statements regarding the slope of 
Cost-time curve. 
1. It is given by difference between normal cost and crash cost 
divided by crash time 
2. It is given by difference between crash cost and normal cost 
divided by difference between crash time and normal time. 
3. It is given by difference of crash cost and normal cost divided 
by normal time. 
4. It is given by crash cost divided by crash time. 
Which of these statements are/is correct?
A : 1 only 
B : 2 only 
C : 2 and 3 only
D : 3 and 4 
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Q : 32) The cost of a machine is Rs. 
10,000 with a useful life of 10 years. 
Its depreciated cost, after 5 years, if 
the salvage value is Rs 1,000 on 
straight line basis, will be 
A : Rs. 1,500 
B : Rs. 3,500 
C : Rs. 5,500 
D : Rs. 7,500
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Q : 33) A building costs Rs. 40000. 
Considering scrap value as 10% of the 
cost and life as 60 years, the 
depreciated value after 12 years is: 
A : 33800 
B : 34800 
C : 32800 
D : 31800 
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Q : 34) According to BIS method of 
measurement, the order of the 
sequence is 
A : length, breadth, height 
B : Breadth, length, height 
C : Height, length, breadth 
D : Length, height, breadth 
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Q : 35) The plinth area of building not 
includes 
A : Area of a wall at the floor level 
B : Internals shafts for sanitary 
installations upto 2 sqm in area
C : Lift and wall including landing 
D : Area of the cantilevered porch 
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